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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

1a 955 4.3 1.7 6 71.7 99.5

2b 947 4 1.8 8 50.1 98.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1(b) Explain the link identified in the data between the UK’s balance of
payments and house prices in the UK. (lines 7-10). [6]
AO1 AO2 AO3
Band
2 marks 1 mark 3 marks
3 marks
Excellent analysis
Strong well-developed
3 answer which explains
the link between a
current account deficit
and a financial account
surplus and hence
house prices
2 marks 2 marks
Good understanding Good analysis
Clear understanding of The link between a
2 the overall structure of current account
the balance of payments deficit/financial account
surplus and inflows into
property is present but
not fully developed
1 mark 1 mark 1 mark
Limited understanding Application Limited analysis
Understanding of what a | Data used to show that | There is an argument
1 current account deficit prices have been driven | that house prices have
means up by inward property been driven up by
investment overseas investment,
but the link with the
balance of payments
overall is unclear.
0 0 marks 0 marks 0 marks
No valid understanding No valid application No valid analysis

© WJEC CBAC Ltd.






Indicative content:

AO1

The balance of payments comprises the current account and financial/capital accounts. The
former measures regular incomes from exports, imports and investments. The latter
measures one off transfers and investments.

For 2 — good understanding of each or good understanding of one plus good understanding
of the interrelationship

AO2

There have been significant financial account inflows to finance the current a/c deficit -
£30bn per year

These flows have driven up property prices by 20% over 15 years.

AO3

The balance of payments sums to zero overall because overall inflows of £ (D) will equal
overall outflows (S). A current account deficit (trade in goods and services and
primary/secondary incomes) will therefore be balanced by a financial/capital account surplus
(short and long term investment flows). Hence a current a/c deficit will be financed by
financial/capital account inflows. Some of these are likely to go into property investment,
therefore driving up house prices.

© WJEC CBAC Ltd. 4
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simonharrison

Sticky Note

Clear sense of overall structure of B of P. AO1: 2



simonharrison

Sticky Note

Starts to link the inward investment to the housing market and price increases, so limited AO3 at this stage



simonharrison

Sticky Note

Direct use of case - limite AO2



simonharrison

Sticky Note

Final link back to the financial/capital account, so AO3 good (bod)



simonharrison

Sticky Note

Overall the answer shows a solid knowledge of the balance of payments, makign for AO1:2/2. There is some case use for AO2: 1/1 and a reasonably developed link between the fianncial accoutn surplus and rising house prices for AO3: 2/3 making 5/6 overall.
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simonharrison

Sticky Note

Some knowledge of the balance of payments, so limited AO1 here



simonharrison

Sticky Note

bod for AO1 good - implicit understanding of a link between the current and financial/capital account.



simonharrison

Sticky Note

Beginings of analysis here - some limited AO3



simonharrison

Sticky Note

Clear development of the impact if inflows on house prices and a partial link back to the capital/financial account, so developed AO3 without being excellent




simonharrison

Sticky Note

Direct use of case for AO2: 1



simonharrison

Sticky Note

There is a solid knowledge of the balance of payments overall, showing an understanding of what the current and financial/capital accounts are, so AO1: 2/2.
There is a direct link back to the case, for AO2: 1/1.
There is an explanation of how inflows of foreign capital have driven up house prices. Whilst this is linked to the balance of payments, the link isn't fully developed, so AO3: 2/3 making a total of 5/6 overall










Cand |

1

: 3) e \wdonie oy fogmerts s make wp o}

e (wvek agowk ond  (epiteN attount. TE

JSWMauwa e Zoo. Due to te Uk Wwing a

\u“‘c Cuverk  attowt dnfu‘tt Aie to * Ieoker
laed oy WpPeds Hen expods, e need t

Wove o oty Surplvs n KHe  Capitod ac :

TRy e e adviecd 1 Har & oe  :jedions

Jto He Wk eronomy e \‘Oﬂsn '\Mes(m»t,

whia U\ v Klo billioa PE*;«C One
Common Way o) inve staneAd S BHaronh B

1 fwdnace o) Howtes, Weally Sorighn westors

sw o lobt oy Mownes v e (ities Ve bendon
buwssing Propeds yer Milions o) fowmdy. Tle
Aamovd oy Wovwe, ¢ woread WNas (auxe He

Jfcice o \oven to wmiseae al He supply i

Cise ab o Muas Slower de | :?Eob'o

1 Wueae v e ladt (§ geery. 8T W, Hok
d Wouw CPaies mMman SEBU Plse  ay we Mawktain

O Curt oot depark to meedt He bodonce
oy P%“‘U*S-E

=




simonharrison

Sticky Note

Very clear knowledge of the overall structure of the balance of payments - good AO1




simonharrison

Sticky Note

Link between the financial account surplus and the inflows of funds into property makes for limited AO3



simonharrison

Sticky Note

Further development of the impact of foreign investment into the housing market - developed AO3



simonharrison

Sticky Note

Clear case reference with mechanics if house prices as well. So AO2 and AO3



simonharrison

Sticky Note

Clear final link back to the balance of payments 



simonharrison

Sticky Note

The answer has a good knowledge of the structure of the b of p, integrated case use and a very clar explanation as to how the inflows on the financial accoutns arising from the current account deficit have driven up house prices. Hence 6/6 overall
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ECONOMICS - A level component 2
Exploring Economic Behaviour

2 hours 30 minutes

A520U201

01

ADDITIONAL MATERIALS

A calculator.
A WJEC pink 16-page answer booklet.

INSTRUCTIONS TO CANDIDATES

Use black ink or black ball-point pen.
Answer all questions.

INFORMATION FOR CANDIDATES

The number of marks is given in brackets at the end of each question or part-question.
You are reminded of the necessity for good English and orderly presentation in your answers.
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Answer all questions.

The only way is up?

Housebuilders such as Bovis Homes reported record profits in 2018 as the UK housing
market continued to expand. Bovis sold 3% more houses in 2018 than in 2017. Profits were
also boosted by increased efficiency, which reduced fixed costs.

Profits at Bovis in 2018 reflected a long-running rise in average UK house prices, driven by
a number of factors. According to Bovis, ‘customer demand for new homes [was] supported
by attractive mortgage finance and government initiatives to support first-time buyers’.

Prices over the last 10 years have also been driven up by foreign investment; one
consequence of the UK’s persistent current account deficit has been overseas investment
into UK property of over £30bn per year. This has increased house prices in London by
over 20% in the last 15 years.

Mortgages in the UK remain cheap partly as a result of the Bank of England’s QE

(quantitative easing) programme (Figure 1), which was further expanded after the results of
the Brexit vote in 2016.

Figure 1: UK injections of QE

November 2009 July 2012 August 2016

This has meant that house prices continued to rise, although there was a fall in some areas
and for some property types early in 2019. Some commentators suggest that this may be
the beginning of a sharp drop in house prices (Figure 2), especially with the Bank of England
suggesting that it may begin the process of reversing QE once interest rates rise to 1.5%.

© WJEC CBAC Ltd. (A520U20-1)
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Figure 2: UK House price forecasts
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QE has been a controversial policy. The Bank of England has argued that the initial £200bn
QE programme increased real GDP by 1.5-2 percentage points and increased inflation

by 0.75—1.5 percentage points and that the effects of the 2007—-08 financial crisis would
have been much worse without it. Others argue that the main effect has been on asset
prices (Figure 3) and government bond yields and that there is little evidence that the cash
has made it through to the wider economy, instead encouraging the sort of speculative
behaviour that led to the financial crisis in the first place. Critics also argue that QE has
reduced interest rates for savers (Figure 4) which has led some to invest in riskier assets
than they would have done in normal times.

Figure 3: FTSE 100 (Index of UK share prices)
(1984=1000)
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Figure 4: Savings Account Interest Rates vs Inflation (CPI) (%)
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The Bank of England also argues that QE reduced inequality in the UK (Figure 5), although
the effects have clearly been mixed. The impact on the rental sector hasn’t helped, with
average private sector rents unaffordable for average working families across half of the
UK. Recent research by Shelter (a charity for the homeless) showed that 38% of families
with children who are renting privately have cut down on buying food to pay their rent. This
issue has led a number of politicians to call for maximum rents to be introduced in the UK,
although critics of the scheme say that such schemes simply cause private landlords either
to sell (reducing house prices for middle income earners) or to cut back on investments

Figure 5: Impacts of QE on household wealth

... but wealthier households saw
much larger cash gains

Average cumulative real effect of changes in monetary policy on net wealth, 2007 to 2012—-14
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Some hope for slower house price increases has come from the government’s attempts to
encourage more housebuilding, especially in the south-east. However, attempts to increase
supply have run into a number of difficulties. Restrictions on housebuilding in rural areas
have been one factor and a recent report analysing housebuilding companies looked in
detail at how these companies deliberately build slowly to keep house prices high in order
to maximise their profits from a housing development. These factors have meant that in
spite of major efforts to increase housebuilding, demand is still above supply (Figure 6).

Figure 6: UK housing demand and housebuilding
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The Government acknowledged in December 2018 that the private sector would be unlikely
to build enough homes to meet demand, and critics argued that cuts in funding to local
government and limitations on their ability to borrow would restrict the amount of social
housing that could be built.

The direction of house prices may also depend on Brexit and the nature of it. On the one
hand, Brexit might cause the supply of skilled construction workers from abroad to fall,
impacting supply. On the other hand, reduced inward migration might mean a fall in the
demand for housing. Mark Carney, the former Governor of the Bank of England, suggested
that in a worst-case no-deal Brexit scenario, house prices could fall by a third, well and truly
ending the housing bubble.

© WJEC CBAC Ltd. (A520U20-1) Turn over.





(b) Explain the link identified in the data between the UK’s balance of payments and house
prices in the UK. (lines 7-10) [6]

© WJEC CBAC Ltd. (A520U20-1)
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1(e) With reference to the data, explain how the Bank of England’s QE
programme affects households and discuss the extent to which it has
been beneficial for them. [11]
AO2 AO3 AO4
Band
4 marks 3 marks 4 marks
4 marks 3 marks 4 marks
Excellent application Excellent analysis Excellent evaluation
The data is used Well-developed chains Well-developed
comprehensively on of argument showing a | arguments on both sides
both sides of the thorough understanding | and the answer makes
argument of how the effects well-reasoned
3 identified in AO2 have judgements in the
come about. Thereisa | context of the case
convincing explanation showing good depth of
of the QE process discussion, coming to a
supported view as to the
extent to which QE has
been beneficial to
households
2-3 marks 2 marks 2-3 marks
Good application Good analysis Good evaluation
The data is very well Developed chains of The answer is two-sided
used on one side of the | argument showing an with developed
5 argument or well used understanding of how arguments on both
on both the effects identified in sides.
AO2 have come about.
Low band answers will There is a reasonable Low band answers may
have more superficial explanation of the QE be underdeveloped on
use on one side of the process with some one side of the case.
case vagaries
1 mark 1 mark 1 mark
Limited application Limited analysis Limited evaluation
Use of the data is less There is a limited The answer is two
effective. Relevant data | explanation of how the sided, but points are
1 has been used but not QE process brings asserted or there is
well developed about impacts on judgement of a one-
households which sided response
nevertheless
demonstrates some
understanding of what
QE s
0 0 marks 0 marks 0 marks
No valid application No valid analysis No valid evaluation

© WJEC CBAC Ltd.






Indicative content:

AO2/4:

House prices have risen by over 60% trough to peak — those already owning property have
therefore benefitted significantly as the value of any mortgage falls as a proportion of the
price of the asset. Those who are not home-owners are increasingly priced out of the
market, putting stress on the rental market. Nevertheless, this looks very much like a bubble
and anyone coming into the market in 2018-19 stands a significant risk of negative equity in
the short term.

Share prices have risen over 70% trough to peak meaning that anyone already in the market
(those with pension funds and financial investments) will have benefitted. However, such
people are only a minority — many have a minimal pension fund or are employed by the state
on defined benefit pensions.

Savings rates have been destroyed, falling from 3.5% in real terms to negative for almost the
entire period of QE (other than 2014-15 when they rose to about 1% real). This damages
anyone with significant savings or those who are retired and trying to live off savings wealth
— therefore the effects are mixed. Low rates have also led to a flight to risky investments with
predictable consequences in terms of fund collapses. On the other hand, borrowing costs fall
too, meaning that high-debt households will have more discretionary income.

Inequality has been both widened or narrowed depending on how you look at it. In
proportional terms the lowest decile has gained the most, but this is likely to have been a
handful of people within that decile who owned property, meaning that the analysis is
misleading; the impact on the wealth of the lowest decile in absolute terms is essentially nil.
The wealthiest 10% have clearly gained very significantly in absolute terms.

According to the BoE, QE made the recession less serious than it might otherwise have
been (+1.5-2% of GDP). Hence helping to support jobs and therefore benefit low-income
groups with lower skills who might find it harder to find another job.

Hence the effects have been mixed with some groups gaining and others losing.

AQO3:

QE is an asset purchase scheme. In the UK the BoE has bought (primarily) UK government
bonds. These purchases have the immediate effect of driving up bond prices and reducing
bond yields.

The increase in bond prices means that remaining bond-holders have higher levels of
wealth, boosting confidence and possibly consumption.

The reduction in bond yields means that investors will seek out higher returns from other
assets such as property and bonds, increasing the value of those assets and in turn
reducing their yields too. In addition to the wealth effects arising from this, lower yields make
it easier for corporations to access funding via equity and loans.

Likewise, the increase in liquidity in the system may have made banks more willing to lend,
allowing households to access loans at low rates.

© WJEC CBAC Ltd. 10
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simonharrison

Sticky Note

Here the answer starts to show an understanding of the QE process and at this stage has reached AO3 band 1



simonharrison

Sticky Note

At this stage the response has now started to use the case effectively by making good use of the context and then explaining the impact on households. At this stage they have made the case effectively that QE has had some beneficial effects on households
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simonharrison

Sticky Note

The answer has now begun to evaluate its analysis and is moving up the AO4 bands



simonharrison

Sticky Note

Here they have developed the impact of QE, further analysing the process. This has now reached band 2 for AO3.



simonharrison

Sticky Note

This is now a strong discussion of the impacts on households



simonharrison

Sticky Note

Further strong explanation of the effects



simonharrison

Sticky Note

Final reasoned judgement makes for band 3 AO4



simonharrison

Sticky Note

Overall this answer scored 9/11. The discussion of the effects on households was excellent making for 4/4 on AO4. The case use although pretty extensive was a little unclear in places and very heavily centred around figure 5 leading to 3/4 for AO2. The analysis of the QE process was good, but not quite fully developed in terms of impacts on yields and so on making for 2/3 for AO3
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simonharrison

Sticky Note

Although there is a slight error in terminology (the coupon doesn't fall, the yield does) this was a very strong explanation of the QE process
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simonharrison

Sticky Note

A well developed analysis of the favourable impacts on households here, well linked to both the case and to the QE process



simonharrison

Sticky Note

Starts to evaluate, good linkage to some of the micro factors in the case



simonharrison

Sticky Note

Further explanatory evaluation



simonharrison

Sticky Note

Good use of figure 5



simonharrison

Sticky Note

Good final judgement building on what they had argued



simonharrison

Sticky Note

The analysis of the QE process was very thorough and was awarded AO3: 3/3. The overall discussion of QE impacts was well-developed on both sides with a decent conclusion giving AO4: 4/4 and the use of the case was just worthy of 4/4 AO2 for its ability to synthesise the micro and macro data - there was other information that could have been used, but the answer was thorough, gaining AO2: 4/4 making for 11/11 overall.
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simonharrison

Sticky Note

Here some understanding of the QE process is demonstrated but it looks narrowly at liquidity effects making AO3 limited at this stage



simonharrison

Sticky Note

Some understanding of some of the effects of QE on households, but not yet well-explained



simonharrison

Sticky Note

Further development of favourable impacts



simonharrison

Sticky Note

Case has been used to make a counter-argument with some explanation
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simonharrison

Sticky Note

Some reference to figure 5, but imprecise - isn't making use of any of the raw data



simonharrison

Sticky Note

Indirect reference to low interest rates/negative real interest rates identified in the case, but not very explicit



simonharrison

Sticky Note

Their judgement here compares QE with interest rates which isn't what the question asked.



simonharrison

Sticky Note

The explanation of the impact of QE wasn't very precise and received AO3: 1/3. The rest of the answer was good at developing the impacts, however. Woth greater precision in data use, the answer could have gained full marks on AO2, but because it was a bit indirect recieved 3/4. Likewise, there was a strong 2-sided response without a real clear judgement giving it 3/4 for AO4 making a total of 7/11
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Answer all questions.

The only way is up?

Housebuilders such as Bovis Homes reported record profits in 2018 as the UK housing
market continued to expand. Bovis sold 3% more houses in 2018 than in 2017. Profits were
also boosted by increased efficiency, which reduced fixed costs.

Profits at Bovis in 2018 reflected a long-running rise in average UK house prices, driven by
a number of factors. According to Bovis, ‘customer demand for new homes [was] supported
by attractive mortgage finance and government initiatives to support first-time buyers’.

Prices over the last 10 years have also been driven up by foreign investment; one
consequence of the UK’s persistent current account deficit has been overseas investment
into UK property of over £30bn per year. This has increased house prices in London by
over 20% in the last 15 years.

Mortgages in the UK remain cheap partly as a result of the Bank of England’s QE

(quantitative easing) programme (Figure 1), which was further expanded after the results of
the Brexit vote in 2016.

Figure 1: UK injections of QE

November 2009 July 2012 August 2016

This has meant that house prices continued to rise, although there was a fall in some areas
and for some property types early in 2019. Some commentators suggest that this may be
the beginning of a sharp drop in house prices (Figure 2), especially with the Bank of England
suggesting that it may begin the process of reversing QE once interest rates rise to 1.5%.

© WJEC CBAC Ltd. (A520U20-1)
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Figure 2: UK House price forecasts
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QE has been a controversial policy. The Bank of England has argued that the initial £200bn
QE programme increased real GDP by 1.5-2 percentage points and increased inflation

by 0.75—1.5 percentage points and that the effects of the 2007—-08 financial crisis would
have been much worse without it. Others argue that the main effect has been on asset
prices (Figure 3) and government bond yields and that there is little evidence that the cash
has made it through to the wider economy, instead encouraging the sort of speculative
behaviour that led to the financial crisis in the first place. Critics also argue that QE has
reduced interest rates for savers (Figure 4) which has led some to invest in riskier assets
than they would have done in normal times.

Figure 3: FTSE 100 (Index of UK share prices)
(1984=1000)
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Figure 4: Savings Account Interest Rates vs Inflation (CPI) (%)
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The Bank of England also argues that QE reduced inequality in the UK (Figure 5), although
the effects have clearly been mixed. The impact on the rental sector hasn’t helped, with
average private sector rents unaffordable for average working families across half of the
UK. Recent research by Shelter (a charity for the homeless) showed that 38% of families
with children who are renting privately have cut down on buying food to pay their rent. This
issue has led a number of politicians to call for maximum rents to be introduced in the UK,
although critics of the scheme say that such schemes simply cause private landlords either
to sell (reducing house prices for middle income earners) or to cut back on investments

Figure 5: Impacts of QE on household wealth

... but wealthier households saw
much larger cash gains

Average cumulative real effect of changes in monetary policy on net wealth, 2007 to 2012—-14
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Some hope for slower house price increases has come from the government’s attempts to
encourage more housebuilding, especially in the south-east. However, attempts to increase
supply have run into a number of difficulties. Restrictions on housebuilding in rural areas
have been one factor and a recent report analysing housebuilding companies looked in
detail at how these companies deliberately build slowly to keep house prices high in order
to maximise their profits from a housing development. These factors have meant that in
spite of major efforts to increase housebuilding, demand is still above supply (Figure 6).

Figure 6: UK housing demand and housebuilding
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The Government acknowledged in December 2018 that the private sector would be unlikely
to build enough homes to meet demand, and critics argued that cuts in funding to local
government and limitations on their ability to borrow would restrict the amount of social
housing that could be built.

The direction of house prices may also depend on Brexit and the nature of it. On the one
hand, Brexit might cause the supply of skilled construction workers from abroad to fall,
impacting supply. On the other hand, reduced inward migration might mean a fall in the
demand for housing. Mark Carney, the former Governor of the Bank of England, suggested
that in a worst-case no-deal Brexit scenario, house prices could fall by a third, well and truly
ending the housing bubble.

© WJEC CBAC Ltd. (A520U20-1) Turn over.





(e) With reference to the data, explain how the Bank of England’s QE programme affects
households and discuss the extent to which it has been beneficial for them. [11]

© WJEC CBAC Ltd. (A520U20-1)
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2 (b) Discuss the possible effects of the changes in the household savings ratio
shown in Figure 1 on Australian households and the Australian economy.
[8]
AO1 AO2 AO3 AO4
Band
1 mark 2 marks 2 marks 3 marks
3 marks
Excellent
evaluation
Answer makes
well-reasoned
judgements
3 showing a good
depth of
discussion.
One evaluative
point will have
been made for
each of
households and
the economy
2 marks 2 marks 2 marks
Good application | Good analysis Good evaluation
Data used is well- | Answer has well Developed
developed to developed chains counterarguments
2 support the of reasoning that are present on
answer link to impacts of either households
the falling savings | or the economy
ratio on
households and/or
the economy
1 mark 1 mark 1 mark 1 mark
Limited Limited Limited analysis Limited evaluation
understanding application
1 Chains of The evaluation is
Understanding of | Data is used to reasoning are less | not well developed
the savings ratio | support the well developed and lacking depth.
is shown answer Superficial
response.
0 marks 0 marks 0 marks 0 marks
0 No valid diagrams | No valid No valid analysis No valid
application evaluation.

© WJEC CBAC Ltd.
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Indicative content:

AO1
Understanding that the savings ratio is the proportion of GDP saved rather than an absolute
amount of saving.

AO2

Chart is used directly as part of the answer - savings ratio has fallen from 10% down to 2%.
The Australian economy is on the brink of recession, so a fall in the savings ratio might help
to prevent this.

Households may suffer as a result of inadequate pensions and low savings for emergencies.
But falling savings ratio helps to sustain household living standards given weak earnings
growth.

Fall in savings ratio means that household debt is rising because consumption is rising
faster than wages.

AO3

The fall in the savings ratio may give households more spending power maintaining
consumption levels/living standards if wages are depressed.

Lower savings ratio may mean higher consumer spending in the economy which boosts AD
and via the multiplier GDP.

AO4

Lower precautionary balances for times when household income falls/less saved for big
ticket items.

May imply a failure to build up pension savings, creating problems later in life.

Lower savings ratio may imply more households are financing spending on credit, which
comes with interest payments and risk of default. Borrowers also vulnerable to potential
increases in interest rates (although these are low and forecast to remain so).

Fall in the supply of loanable funds which can have a negative effect on bank lending and
investment (Harrod-Domar etc.).

Risk of credit bubble emerging.

Possible inflation risk

© WJEC CBAC Ltd. 13
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simonharrison

Sticky Note

Here there is an implication that they understand that the savings ratio is a proportion of income rather than just a level making for AO1:1



simonharrison

Sticky Note

Here they are beginning to show the impact of rising consumption, so starting to build AO3



simonharrison

Sticky Note

Direct use of the case, so some limited AO2



simonharrison

Sticky Note

Further development of rising consumption



simonharrison

Sticky Note

Good development of the positive effects of a falling savings ratio



simonharrison

Sticky Note

AO1: 1/1 - enough to suggest that they understand that savings and the savings ratio aren't the same. AO2: 1/2 uses the chart directly, but no more, so limited AO2. AO3: Good development of the effects of falling S/rising C, so 2/2 (good)/ AO4 - there is no attempt to qualify or to build a counter-argument, so AO4 0/3. Overall total is therefore 4/8













simonharrison

Sticky Note

The response starts with a good attempt to use a Harrod-Domar style argument to argue that a lack of savings will hamper banks' ability to lend



simonharrison

Sticky Note

This section is confused. It doesn't cost the candidate any marks but nor does it add anything.



simonharrison

Sticky Note

Standard beginning of rising consumption answer



simonharrison

Sticky Note

Although the savings ratio is actually the APS, this did show a sense of proportionality and was allowed as AO1: 1



simonharrison

Sticky Note

Developed argument on the benefits of a falling savings ratio so AO3 2/2








simonharrison

Sticky Note

Beginning of a counterargument (AO4)



simonharrison

Sticky Note

Developed to an extent so AO4 



simonharrison

Sticky Note

Although this is a conclusion, there isn't really any developed judgement, so the AO4 was only 2/3



simonharrison

Sticky Note

AO1: 1/1 some sense of what the savings ratio actually is.
AO2: 0/2 no direct use of the case
AO3: 2/2 Good argument on advantages
AO4: 2/2 Developed counter. Not great but good enough for 2/3.
Total 5/8
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simonharrison

Sticky Note

Starting to use the data directly, so some AO2 here



simonharrison

Sticky Note

Beginning of an argument on the benefits of a falling savings ratio



simonharrison

Sticky Note

Argument has now been developed, so good AO3



simonharrison

Sticky Note

Beginnings of a counter-argument



simonharrison

Sticky Note

Again, case reference



simonharrison

Sticky Note

Well-developed counter - good AO4



simonharrison

Sticky Note

Good overall judgement and nice attempt to link the case to the real world



simonharrison

Sticky Note

AO1: 0 - The response never gives a clear indication of an understanding of the savings ratio itself
AO2: 2/2 a couple of direct case references. This was a benefit of the doubt, but they also attempted to apply to the real world at the end
AO3: 2/2 good argument on rising consumption.
AO4: 3/3 Good counter, well-explained and a valid overall judgement that linked to their argument through the response
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Australia — out on its own

The last time Australia suffered a recession, the Internet did not exist and people still
bought CDs, with Australia even avoiding the worst of the financial crisis of 2008—09. Public
sector debt is only 41% of GDP and the healthcare and welfare systems are the envy of
many other developed economies. Australia has an HDI of 0.939 and a GDP per capita of
$53800 — both higher than the UK.

Australia is rich in natural resources and is a major exporter of iron ore, liquefied natural
gas (LNG) and coal, as well as agricultural products. Although agriculture and natural
resources are only 3% and 5% of GDP respectively. China is Australia’s top trading

partner and the biggest buyer of its iron ore. However, with the Chinese economy slowing,
economic growth in Australia is threatened. Indeed, by the end of 2018 there was concern
that Australia was in trouble having entered a ‘per capita recession’. Growth in the economy
was subdued, reflecting slow-growing household spending and a reduction in investment in
housing.

Extract 1: The Australian economy in 2018

* Australia’s economy slowed from 4% annualised growth at the
start of 2018, to around 1% growth in the second half

e Growth of 2.3% in 2018 was below forecast and placed more
pressure on the central bank to cut interest rates

* Australia’s economic output shrank 0.2% per capita in the fourth
quarter of 2018, after a 0.1% decline in the third

Australia’s Treasury Secretary Phil Gaetjens gave an optimistic assessment of the
economy, highlighting a growth in mining output, unemployment at a 6-year low and the
government’s budget returning to surplus in 2019-20. However, he went on to say that the
economic outlook was complicated by the prolonged drought in the eastern states and

the growing risk to consumption and investment if banks excessively tighten their lending
following the Royal Commission on Banking’s report into banking misconduct (Extract 2).
“With income growth expected to increase gradually, household consumption is expected
to continue to support economic growth” Mr Gaetjens said. However, because consumer
spending was forecast to rise faster than wages, the household savings ratio was expected
to decline further. (Figure 1).

Extract 2: Royal Commission report into Banking

The recent Royal Commission report into misconduct in the banking and
financial services industry followed revelations in the media of a culture of
greed within several Australian financial institutions.

The report exposed several scandals, including billing the dead for financial
advice, deliberately misleading regulators, lending to those with no capacity
to repay, and the profit-motivated selling of misleading financial advice and
unnecessary insurance products. However, critics have warned that the
Royal Commission has failed to recommend major structural changes or be
tougher on individuals and banks that ought to be criminally prosecuted.
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Figure 1: Household savings ratio (Savings as a percentage of GDP)
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The savings ratio is also affected by asset prices. When asset prices are rising people tend
to save a smaller proportion of their income, but the reverse happens when asset prices
are falling — people become more cautious and save more of their income. The housing
market in Australia was weak in 2018 with house prices falling in some areas. By the end of
2018 average Australian house prices were down by 3.5% from their peak.

While this can be good news from an affordability point of view, it can also be bad news for
consumer spending going forward. However, most households do not immediately change
their consumption in response to short-term changes in their wealth according to the
governor of the central bank. He also recently suggested interest rates would stay at their
record low of 1.5% for the foreseeable future.

The value of Australia’s coal exports had been forecast to decline sharply over the next 18
months as coal prices fell by 25%. The value of iron ore export earnings was also forecast
to decline. On the other hand, the value of Australia’s LNG exports was forecast to increase
and to overtake coal as Australia’s second highest resource export in 2018-19.

Like Australia, many developing countries are also well endowed with natural resources
such as oil, gas and minerals. However, many suffer from a ‘resource curse’ tending to
have lower growth rates and levels of economic development. Even Australia isn’t immune
with a clear correlation between commaodity prices and exchange rates (Figure 2) harming
their international competitiveness.

Figure 2: US $ per Australian $ and commodity prices
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Nevertheless, with almost 40 years without a recession, Australia has apparently avoided
the resource curse. Clearly it remains, at least for the moment, out on its own.

© WJEC CBAC Ltd. (A520U20-1) Turn over.





(b) Discuss the possible effects of the changes in the household savings ratio shown in
Figure 1 on Australian households and the Australian economy. [8]

END OF PAPER











